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Question Id : 92090623378 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Question Numbers : (1 to 5)
Question Label : Comprehension

According to Cole, the present state, carries with it the marks of its perversion hy
capitalism. Our present feeble attemts, Cole explains in his book Social Theory, to
inaugurate democracy in politics are frustrated by the existence of a system
approaching slavery in industry. Not poverty of the masses, but slavery is the curse of
capitalism. Capitalism and demoecracy go together. Cole was opposed to the democratie
system of government as it worked in actual practice. He attacked the system of
territorial representation. A person who represents his locality cannot be expected to
decide questions relating to the relationship between the producers and the
consumers. Henece, Cole advocated the reorganization of society on a functional basis.
When society is organized as a federation of functional organizations, each one
democratically controlled, there will be no place for the present state organization. In
a guild society the functions, which an all- inclusive association may properly be taken
over by co-ordinating bodies more in harmony with the principles of freedom and
funcation which will actuate that societ. Cole writes : “It is impossible to reperesent
human beings as person or centres of consciousness; it is quite possible to represent,
though with an inevitable elements of distrortion which must always be recogmized, as
much of human beings as they themselves put into associated effort for a specifie

purpose.”

Sub questions

Question Number : 1 Question Id : 92090623379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ¢

Statement | :  According to Colo, the present state, carries with it the marks of
its perversion by capitalism.

Statement I : A person who represents his locality can be expected to decide
questions relating to the relationship between the producers and
the consumers.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement I is true but Statement 11 is false

(4) Statement [ is false but Statement 1l is true

Options :

92090692401. 1
92090692402. 2
92090692403. 3
92090692404. 4

Question Number : 2 Question Id : 92090623380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the term ‘feeble’ 1s:

(1) stupid (2) foolish
(3) sreat (4) Strong
Options :

92090692405. 1
92090692406. 2
92090692407. 3
92090692408. 4

Question Number : 3 Question Id : 92090623381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the meaning of the term "actuate’ from the options given below:

(1) Participating in a particular sphere
(2)  The ability to make good judgements
(3)  Motivate to act in a particular way

(4) Telling

Options :

92090692409. 1
92090692410. 2
92090692411. 3
92090692412. 4

Question Number : 4 Question Id : 92090623382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Cole, not poverty of the masses, but is the curse of capitalism.
(1) negligence (2) slavery
(3)  education (4) bad health

Options :

92090692413. 1
92090692414. 2
92090692415. 3
92090692416. 4

Question Number : 5 Question Id : 92090623383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One word substitution:

(iive a misleading account or impression of:

(1) Distort (2) Distress
(3) Distrain (4) Distinet
Options :

92090692417. 1
92090692418. 2
92090692419. 3
92090692420. 4



Question Id : 92090623378 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

According to Cole, the present state, carries with it the marks of its perversion hy
capitalism. Our present feeble attemts, Cole explains in his book Social Theory, to
maugurate democracy in politics are frustrated by the existence of a system
approaching slavery in industry. Not poverty of the masses, but slavery is the curse of
capitalism. Capitalism and demoeraey go together. Cole was opposed to the democratie
system of government as it worked in actual practice. He attacked the system of
territorial representation. A person who represents his locality cannot be expected to
decide questions relating to the relationship between the producers and the
consumers. Hence, Cole advocated the reorganization of society on a functional basis.
When society is organized as a federation of functional organizations, each one
democratically controlled, there will be no place for the present state organization. In
a guild society the functions, which an all- inelusive association may properly be taken
over by co-ordinating bodies more in harmony with the principles of freedom and
funcation which will actuate that societ. Cole writes : “It is impossible to reperesent
human beings as person or centres of consciousness; it is quite possible to represent,
though with an inevitable elements of distrortion which must always be recognized. as
much of human beings as they themselves put into associated effort for a specific

purpose.”

Sub questions

Question Number : 1 Question Id : 92090623379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ¢

Statement | :  According to Colo, the present state, carries with it the marks of
its perversion by capitalism.

Statement I : A person who represents his locality can be expected to decide
questions relating to the relationship between the producers and
the consumers.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement I is true but Statement 11 is false

(4) Statement [ is false but Statement 1l is true

Options :

92090692401. 1
92090692402. 2
92090692403. 3
92090692404. 4

Question Number : 2 Question Id : 92090623380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the term ‘feeble’ 1s:

(1) stupid (2) foolish
(3) sreat (4) Strong
Options :

92090692405. 1
92090692406. 2
92090692407. 3
92090692408. 4

Question Number : 3 Question Id : 92090623381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the meaning of the term "actuate’ from the options given below:

(1) Participating in a particular sphere
(2)  The ability to make good judgements
(3)  Motivate to act in a particular way

(4) Telling

Options :

92090692409. 1
92090692410. 2
92090692411. 3
92090692412. 4

Question Number : 4 Question Id : 92090623382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Cole, not poverty of the masses, but is the curse of capitalism.
(1) negligence (2) slavery
(3)  education (4) bad health

Options :

92090692413. 1
92090692414. 2
92090692415. 3
92090692416. 4

Question Number : 5 Question Id : 92090623383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One word substitution:

(iive a misleading account or impression of:

(1) Distort (2) Distress
(3) Distrain (4) Distinet
Options :

92090692417. 1
92090692418. 2
92090692419. 3
92090692420. 4



Sub-Section Number : 2

Sub-Section Id : 920906747
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 92090623384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct passive voice for the sentence given below:
Neeraj Chopra won gold medal in the Tokyo Olymaoic 2020.

(1) Gold medal won by Neeraj Chopra in the Tokyo Olympic 2020.
(2)  Gold medal hed been won by Neera) Chopra in the Tokyo Olympic 2020.
(3) (Gold medal was won by Neeraj Chopra in the Tokyo Olympic 2020.
(4)  Gold medal has been won by Neeraj Chopra in the Tokyo Olympie 2020.
Options :
92090692421. 1
92090692422. 2

92090692423. 3
92090692424. 4

Question Number : 6 Question Id : 92090623384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct passive voice for the sentence given below:
Neeraj Chopra won gold medal in the Tokyo Olymoic 2020.

(1)  Gold medal won by Neeraj Chopra in the Tokyo Olympic 2020.
(2)  Gold medal hed been won by Neera) Chopra in the Tokyo Olympic 2020.
(3)  Gold medal was won by Neeraj Chopra in the Tokyo Olympic 2020,
(4)  Gold medal has been won by Neeraj Chopra in the Tokyo Olympie 2020.
Options :
92090692421. 1
92090692422 2

92090692423. 3
92090692424. 4



Question Number : 7 Question Id : 92090623385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the correct speech for the sentence given below. Riva said,
“How can I do such a foolish mistake™?

(1)  Riva told how could she do such a foolish mistake.
(2)  Riva aske how can she do such a foolish mistake.
(3)  Riya suggerted how she can do such a foolish mistake.

(4)  Riva thought how she could do such a foolish mistake.

Options :

92090692425. 1
92090692426. 2
92090692427. 3
92090692428. 4

Question Number : 7 Question Id : 92090623385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the correct speech for the sentence given below. Riva said,
“How can I do such a foolish mistake™?

(1)  Riva told how could she do such a foolish mistake.
(2)  Riva aske how can she do such a foolish mistake.
(3)  Riya suggerted how she can do such a foolish mistake.

(4)  Riva thought how she could do such a foolish mistake.

Options :

92090692425. 1
92090692426. 2
92090692427. 3
92090692428. 4

Question Number : 8 Question Id : 92090623386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct order of P, , R, 5, to create a meaningful sentence:
A sequence of utterences

P: anticipate the future ones

Q: subjects or voice that responds

R: is a dialogue of speaking

=: to former utterances and

(1) PQRS (2) RQSP
(3) QSPR (4) QPSR
Options :

92090692429. 1
92090692430. 2
92090692431. 3
92090692432. 4

Question Number : 8 Question Id : 92090623386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct order of P, Q, R, 5, to create a meaningful sentence:
A sequence of utterences

P: anticipate the future ones

(): subjects or voice that responds

R: 1s a dialogue of speaking

5: to former utterances and

(1) PQRS (2) RQSP
(3) QSPR (4) QPSR
Options :

92090692429. 1
92090692430. 2
92090692431. 3
92090692432. 4

Question Number : 9 Question Id : 92090623387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sentence:

(1) You haven't seen the film, haven't you?
(2)  You haven't seen the film, did you?
(3)  You haven't seen the film, have you?

(4) You haven't seen the film, do you?

Options :

92090692433. 1
92090692434. 2
92090692435. 3
92090692436. 4

Question Number : 9 Question Id : 92090623387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sentence:

(1) You haven't seen the film, haven't you?
(2)  You haven't seen the film, did you?
(3)  You haven't seen the film, have you?

(4) You haven't seen the film, do you?

Options :

92090692433. 1
92090692434. 2
92090692435. 3
92090692436. 4

Question Number : 10 Question Id : 92090623388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out which part of the following sentence has an ervor.
(1) Arushi is weak in Maths
(2) and do not understand the

(3)  calculations

(4)  though her mother explains her repeatedly.

Options :



92090692437. 1
92090692438. 2
92090692439. 3
92090692440. 4

Question Number : 10 Question Id : 92090623388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out which part of the following sentence has an ervor.

(1) Arushi is weak in Maths
(2) and do not understand the
(3)  calculations

(4)  though her mother explains her repeatedly.

Options :

92090692437. 1
92090692438. 2
92090692439. 3
92090692440. 4

Question Number : 11 Question Id : 92090623389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the correct combination of the member of “QUAD".

(A) India

(B) Vietman

(C) Japan

(D)  Austraha

(E) USA

(F) South Korea

Choose the correct answer from the options given helow :

(1) (A, (B).(C), (D)
(2) (A, (D), (E), (F)
(3) (A (B), (E), (F)
(4) (A, (€), (D), (E)



Options :

92090692441. 1
92090692442. 2
92090692443. 3
92090692444. 4

Question Number : 11 Question Id : 92090623389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify the correct combination of the member of “"QUAD".

(A) India

(By Vietman

(C) Japan

(D) Australia

(E) USA

(F) South Korea

Choose the correct answer from the options given helow :

(1) (A). ([B). (C), (D)
(2) (A, (D), (E), (F)
(3) (). (B), (E), (F)
(4)  (A), (€), (D), (E)

Options :

92090692441. 1
92090692442. 2
92090692443. 3
92090692444. 4

Question Number : 12 Question Id : 92090623390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shiv Kumar Sharma who passes away recently was a:

(1)  Flute player (2) Santoor player
(3) Tabla player (4) Esraj player
Options :

92090692445. 1



92090692446. 2
92090692447. 3
92090692448. 4

Question Number : 12 Question Id : 92090623390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shiv Kumar Sharma who passes away recently was a:

(1)  Flute player (2) Santoor plaver
(3)  Tabla player (4) Esraj player
Options :

92090692445. 1
92090692446. 2
92090692447. 3
92090692448. 4

Question Number : 13 Question Id : 92090623391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[n which Indian state Gangaur Festival 15 predominantly celebrated:

(1) West Bangal (2) Punjab
(3) Rajasthan (4) Karnataka
Options :

92090692449. 1
92090692450. 2
92090692451. 3
92090692452. 4

Question Number : 13 Question Id : 92090623391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In which Indian state Gangaur Festival is predominantly celebrated:

(1) West Bangal (2) Punjab
(3) Rajasthan (4) Karnataka

Options :



92090692449. 1
92090692450. 2
92090692451. 3
92090692452. 4

Question Number : 14 Question Id : 92090623392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Union Minmistry 1s associated with the Citizenship (Amendment) Act, 2019?

(1) Ministry of External Affairs

(2) Ministry of Defence

(3) Mimistry of Housing and Urban Affairs
(4)  Mimstry of Home Affairs

Options :

92090692453. 1
92090692454. 2
92090692455. 3
92090692456. 4

Question Number : 14 Question Id : 92090623392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Union Minmistry 1s associated with the Citizenship (Amendment) Act, 2019?

(1) Ministry of External Affairs

(2) Ministry of Defence

(3) Mimistry of Housing and Urban Affairs
(4)  Mimstry of Home Affairs

Options :

92090692453. 1
92090692454. 2
92090692455. 3
92090692456. 4

Question Number : 15 Question Id : 92090623393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Election Commission of India (ECI) has decided to freeze the election symbol of
which of the following party?

(1) Lok Janshakti Party (2) Dravida Munnetra Kazhagam
(3) Aam Aadmi Party (4) Apna Dal
Options :

92090692457. 1
92090692458. 2
92090692459. 3
92090692460. 4

Question Number : 15 Question Id : 92090623393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Election Commission of India (ECI) has decided to freeze the election symbol of
which of the following party?

(1) Lok Janshakti Party (2) Dravida Munnetra Kazhagam
(3 Aam Aadmi Party (4) Apna Dal
Options :

92090692457. 1
92090692458. 2
92090692459. 3
92090692460. 4

Question Number : 16 Question Id : 92090623394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students, the position of Vineeta from the left side of the row 15 26t and
the position of Vineeta from the right side of the row is 234, Find the total number of
students in the row?

(1) 46 (2) 47
(3) 48 (4) 49
Options :

92090692461. 1
92090692462. 2
92090692463. 3



92090692464. 4

Question Number : 16 Question Id : 92090623394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students, the position of Vineeta from the left side of the row 15 26t and
the position of Vineeta from the right side of the row 1s 234, Find the total number of
students in the row?

(1) 46 (2) 47
(3) 48 (4) 49

Options :

92090692461. 1
92090692462. 2
92090692463. 3
92090692464. 4

Question Number : 17 Question Id : 92090623395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify
the correct sequence of number in the ascending order.

(A) 146
(B) 453
(C) 678
(D) 254
(E)y 942

Choose the correct answer from the options given below :

(1) (A), (E), (B), (C), (D)
(2)  (C), (B), (D), (A). (C)
(3 (A, B). D). (E). (C)
(4)  (E), (A), (C). (B). (D)

Options :

92090692465. 1
92090692466. 2
92090692467. 3



92090692468. 4

Question Number : 17 Question Id : 92090623395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify
the correct sequence of number in the ascending order.

(A) 146
(B) 453
(C) 678
(D) 254
(E)y 942

Choose the correct answer from the options given below :

(1) (A), (E), (B). (C). (D)
(2)  (C), (B), (D), (A). (C)
(3 (A, B). D). (E). (C)
(4 (E), &), (C), (B). (D)

Options :

92090692465. 1
92090692466. 2
92090692467. 3
92090692468. 4

Question Number : 18 Question Id : 92090623396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five friends Amit, Bipin, Chandan, Dinesh and Edwin are sitting on a beach. Amit is
sitting next to Bipin, Chandan is sitting next to Dinesh is not sitting with Edwin who
is on the left end of the beach. Chandan is on the second position from the right. Amit
15 to the right of Bipin and Edwin. Amit and Chandan are sitting together. Who 15 in
the centre?

(1) Dinesh (2) Chandan
(3 Amit (1) Bipin
Options :

92090692469. 1



92090692470. 2
92090692471. 3
92090692472. 4

Question Number : 18 Question Id : 92090623396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five friends Amit, Bipin, Chandan. Dinesh and Edwin are sitting on a beach. Amit is
sitting next to Bipin, Chandan is sitting next to Dinesh is not sitting with Edwin who
15 on the left end of the beach. Chandan 1s on the second position from the right. Amit
15 to the right of Bipin and Edwin. Amit and Chandan are sitting together. Who is in
the centre?

(1) Dinesh (2) Chandan
(3) Armt (4) Bipin
Options :

92090692469. 1
92090692470. 2
92090692471. 3
92090692472. 4

Question Number : 19 Question Id : 92090623397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to a photograph of a boy, Nita said, “He is the son of the only daughter of my
mother”. How 1s Nita related to the boy?

(1) Sister (2) Niece
(3) Mother {(4) Aunt
Options :

92090692473. 1
92090692474. 2
92090692475. 3
92090692476. 4

Question Number : 19 Question Id : 92090623397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pointing to a photograph of a boy, Nita said, “He is the son of the only daughter of my
mother”. How is Nita related to the boy?

(1) Sister (2) Niece
(3) Mother {(4) Aunt
Options :

92090692473. 1
92090692474. 2
92090692475. 3
92090692476. 4

Question Number : 20 Question Id : 92090623398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 1368, 684, 114, 38 _... Which one of the following number should
come next in the series?

(1) 16 2 17
(3) 18 (4) 19
Options :

92090692477. 1
92090692478. 2
92090692479. 3
92090692480. 4

Question Number : 20 Question Id : 92090623398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 1368, 684, 114, 38 .... Which one of the following number should
come next in the series?

(1) 16 2 17
(3) 18 (4) 19
Options :

92090692477. 1
92090692478. 2
92090692479. 3
92090692480. 4



Question Number : 21 Question Id : 92090623399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man purchased 36 pens in a cartain amount and sold 27 pens in the same amount.
The percentage of gain is:
2 I

(1) 165 % (2) 335 %

I

() 12— % (1) GGE %

1
2
Options :

92090692481.
92090692482.

92090692483.
92090692484.

AW O~

Question Number : 21 Question Id : 92090623399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man purchased 36 pens in a cartain amount and sold 27 pens in the same amount.
The percentage of gain is:

(1) 16% % (2) 33]; %

() 12— % (1) GG% %

x
2
Options :

92090692481.
92090692482.

92090692483.
92090692484.

N O R S R

Question Number : 22 Question Id : 92090623400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A can do a work in 20 days, B can do in 30 days and C can do in 60 days. If A is helped
by B and C every third day. The number of days they will take to competed the work
15:

(1) 15 days (2) 12 days
(3) 18 days (4) 9days
Options :

92090692485. 1
92090692486. 2
92090692487 3
92090692488. 4

Question Number : 22 Question Id : 92090623400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A can do a work in 20 days, B can do in 30 days and C can do in 60 days. If A is helped
by B and C every third day. The number of days they will take to competed the work
15:

(1) 15 days (2) 12 days
(3) 18 days (4) 9days
Options :

92090692485. 1
92090692486. 2
92090692487. 3
92090692488. 4

Question Number : 23 Question Id : 92090623401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The different ways in which the letters in the word ' N AZI B A B A D' can be
arranged 1s:

(1) 362880 (2) 30240
(3) 60480 (4) 90720
Options :

92090692489. 1
92090692490. 2
92090692491. 3



92090692492. 4

Question Number : 23 Question Id : 92090623401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The different ways in which the letters in the word ' N AZI B A B A D' can be
arranged 1s:

(1) 362880 (2) 30240
(3) 60480 (4) 90720
Options :

92090692489. 1
92090692490. 2
92090692491. 3
92090692492. 4

Question Number : 24 Question Id : 92090623402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Difference of 2/3 of 63 and 1/3 of 93 is:

(1) 12 (2) 31
(3) 11 (4) 21
Options :

92090692493. 1
92090692494. 2
92090692495. 3
92090692496. 4

Question Number : 24 Question Id : 92090623402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Difference of 2/3 of 63 and 1/3 of 93 is:

(1) 12 (2) 31
(3) 11 (4) 21
Options :

92090692493. 1



92090692494. 2
92090692495. 3
92090692496. 4

Question Number : 25 Question Id : 92090623403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II :

In a test of class X one third of listed students appeared in test got grade B, one

fourth got B, one sixth got grade B and one eighth failed i.e.grade C. Everyone else got
grade A,

List [ List I1
(A) Minimum number of student get grade A () 6
(B) Minimum number of student get grade B* (Iny 4
(C) Minimum number of student get grade B (It 3
(D) Minimum number of student get grade B (IVy 8

(Choose the correct answer from the options given below:

(1) (A)-D, B)-AV). (C)-11), (D)-(11T)
(2)  (A)-IV), B)-(1D), (C)-(I1I), (D)-(D)
(3)  (A)-UID), (B)-(D), (C)-(IV), (D)D)
(1)  (A)-ID, (B)-(ID). (C)-(D), (D)-(IV)

Options :

92090692497. 1
92090692498. 2
92090692499. 3
92090692500. 4

Question Number : 25 Question Id : 92090623403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I1 :

In a test of class X one third of listed students appeared in test got grade B, one

fourth got B, one sixth got grade B and one eighth failed i.e.grade C. Everyone else got
grade A

List List I1
(A) Minimum number of student get grade A (I) 6
(B) Minimum number of student get grade B* (Iy 4
(C) Minimum number of student get grade B (Il 3
(D) Minimum number of student get grade B (IV) 8

Choose the correct answer from the options given helow:

(1) (A)-D, (B)-(IV), (C)-(1D), (D)-(11I)
(2)  (A)-IV), ([B)-(D). (C)-(I1I). (D)-(D)
(3) (A)-(ILT), (B)-(D). (C)-(IV), (D)-(11)
(4)  (A)-ID, (B)-(1D), (C)-(D), (D)-(IV)

Options :

92090692497. 1

92090692498. 2

92090692499. 3
92090692500. 4

Part B: Textile Design

Section Id : 920906464
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906748
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090623404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a typical fabric weaving no. of Reed required to weave terry is -

(1 Two (2} One
(3) Three (4) Four
Options :

92090692501. 1
92090692502 2
92090692503. 3
92090692504. 4

Question Number : 26 Question Id : 92090623404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

v fafdre wue & g8 1 28 & §9F & R et e O fie 91 eraggea gefte

m & (2) UH
(3) dF (4) TR
Options :

92090692501. 1
92090692502. 2
92090692503. 3
92090692504. 4

Question Number : 27 Question Id : 92090623405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fiber can be identified by burning on these stages -

A When approaching flame
Ash and Odour
When in flame

Dissolved in acid

m o N m

After removed from flame

Choose the correct answer from the options given below :
(1) A CEonly
(2) A B, C Eonly
(3) A B D, Eonly
{4) C. D, Eonly
Options :
92090692505. 1
92090692506. 2

92090692507. 3
92090692508. 4

Question Number : 27 Question Id : 92090623405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W 1 Sremet e TRl § 39a ugar &t o aadt § -
A, 3= &1 saren & affoe gge o

B. M SR T g

C vEsEmdg

D. 3 HYE R

E a9 g0 & uelq

19 3y T fasedt © 9 1 IR &1 9uE S -
(1) &dd A CE

(2) &dd A B CE

(3) &$dd A BD,E

(4) &dd C D, E

Options :

92090692505. 1
92090692506. 2
92090692507. 3
92090692508. 4



Question Number : 28 Question Id : 92090623406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following in not a natural cellulosic fibre from plant -

m Sisal (2} Henequen
(3}  Rayon (4) Hemp
Options :

92090692509. 1
92090692510. 2
92090692511. 3
92090692512. 4

Question Number : 28 Question Id : 92090623406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frerfarfaa § 8 o w1 o § urd wiofas SegaiiEes v =8 87

(1) g (2) B
(3) Y™ (4) 89
Options :

92090692509. 1
92090692510. 2
92090692511. 3
92090692512. 4

Question Number : 29 Question Id : 92090623407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the process flow of an apparel industry in correct sequence -

A Sewing

B Spreading
C. Sampling
D. Finishing

E Cutting

Choose the correct answer from the options given below :
1) BCAED
2 CBEAD
3) BCEAD
4 CBAED

Ly

(
(
(
(

Options :

92090692513. 1
92090692514. 2
92090692515. 3
92090692516. 4

Question Number : 29 Question Id : 92090623407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U afve 3 &1 ufeean udig &1 9g! vH § el &

N £

B. e

C.  THATER

D. ufvss

E. el

2 fEu u faeedl & 9 wel IR &1 94 $ifon

1 BCAED
2) CBEAD
3} B,C.EAD
4 LBAED

Options :

92090692513. 1
92090692514. 2
92090692515. 3
92090692516. 4



Question Number : 30 Question Id : 92090623408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is not an example of autoration in textile manufacturing -

(1) MNetwork Logic System (NLS)

(2 Computer Integrated Manufacturing (CIM)
(3} Computer Aided Design (CAD)

(4) Flexible Manufacturing Systems (FMS)

Options :

92090692517. 1
92090692518. 2
92090692519. 3
92090692520. 4

Question Number : 30 Question Id : 92090623408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafag A € &9 91 g faf i & @gaa &1 v IS8 81 62

(1) Aedd difvre e (Nis)

(2) e seufee By (M)
(3) SR UfES fEWmEA (caD)

(4) Wlegdd DYhae ey (Fvms)

Options :

92090692517. 1
92090692518. 2
92090692519. 3
92090692520. 4

Question Number : 31 Question Id : 92090623409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : 'Khadi' was the symbol of a homespun independence in India, to
achieve Independence from British in the 19" Century.

Statement |l : The first mechanized cotton mill was established in India in 1854.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
{3) Statement | is true but Statement | is false

(4) Statement | is false but Statement |l is true

Options :

92090692521. 1
92090692522. 2
92090692523. 3
92090692524. 4

Question Number : 31 Question Id : 92090623409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e @ sy fRu T B

&u | 10 d gt d fafee & wda wie &g @l yva & wndiaa @ e udie o
®YA 11 - HRd & uyw aftmifret gt fira 1854 1 wfda g3 4

JURERd HYH & HTeltes 1, T feu my fadedi F 8 wgl I &1 9ud sifon

1) Y| AR e

2)  BYAI SR T E

3) &Y EA g A FUE 1 S
4) HYI UG, AP FYT I TH B

st SRR e

(
(
(
(

Options :

92090692521. 1
92090692522. 2
92090692523. 3
92090692524. 4

Question Number : 32 Question Id : 92090623410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which one of the following is not an automated process control in weaving?

(1) Automated Pick Repair (2} Automated Warp Repair
(3) Automated Warp breakage locator (4) Computerised Machine Control

Options :

92090692525. 1
92090692526. 2
92090692527. 3
92090692528. 4

Question Number : 32 Question Id : 92090623410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFr=fefed J @ @1 a1 ue g8 o wenfed yomell e =4 8-

(1) i fOe gur (2) @I Al GUR
(3) I a1 fEes Pufe (4) Frgeidd wH FEs

Options :

92090692525. 1
92090692526. 2
92090692527. 3
92090692528. 4

Question Number : 33 Question Id : 92090623411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ;

Statement|  : Ralph Lauren launched collection of men’s clothing inspired by the
sport POLO.

Statement !l : Ywves Saint Laurent was choosen as a head of 'House of Christian
Dior'.

In the light of the above statements, choose the most appropriate answer from the
options given below

(n
(2)
(3)
(4)

Both Statement | and Statement |l are correct
Both Staterment | and Statement |l are incorrect
Statement | is correct but Statement 1l is incorrect

Statement | is incorrect but Statement |l is correct

Options :

92090692529. 1
92090692530. 2
92090692531. 3
92090692532. 4

Question Number : 33 Question Id : 92090623411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

?ﬁ'ﬁaﬁ‘lﬂmm%{:

B

|« Orelt | 9 IR B 36 A 7 45y YT 9% B YETd Bl ot

HY || : g3 He e $1 g3y 3t [y STav & wgE & w9 & g1 T v
IR HYH B e O, i Bu u Fwed F 9 w8l 3% @1 994 Fifen

(1)
(2)
(3)
(4)

FUA I AR N ST TA S

He | SR 11 ST ST

HUF | T B, Afh PUA 1| T &
FHYT | U B, AfFT FU 11 I §

Options :

92090692529. 1
92090692530. 2
92090692531. 3
92090692532. 4



Question Number : 34 Question Id : 92090623412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement|  : " The Color Meeting” in Paris is known as the concentration where
approximately forty plus leading fashion industries represents
yarns, textiles and garment manufacturers, designers, stylists, color
consultants and fashion forecasters gather together.

Statement Il  : The France major fabric and yarn fair is Premeir Vision, in Germany
it is called /ntersoft and in UK. Fabrea.

In the light of the above statements, choose the most appropriate answer from the
options given below

(1) Both Statement | and Statement |l are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement Il is incorrect

{4) Statement | is incorrect but Statement |l is correct

Options :

92090692533. 1
92090692534. 2
92090692535. 3
92090692536. 4

Question Number : 34 Question Id : 92090623412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& | Ofvg | s S sor ffEr & oe Bl 9y & wu § S o § ol
areliy € 3ifis e IUm OH, temersy, a9 Rfmi, feeeR, wifre,
&1 e &1 wiofiee $30 8 ok Bem yai el o 9y taha 810 81

@Y 1| iF &1 UE $USI AR I Aol iR fGem g, off sl § gewdie oR
g% 1 el Hgardl g

Il ®uE & et #, A 3w v fawei § 4 g6l IR &1 9uH siferg

(1) SR NS TAE
(2)  FYI AR NI g 8
{

(

St

3)  HYFI9H ¢ o YA 1 AEa
4) &Y ATAE, AfEA FUH 1 TA B

Phanie

Options :

92090692533. 1
92090692534. 2
92090692535. 3
92090692536. 4

Question Number : 35 Question Id : 92090623413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a traditional Kantha types of Bengal?

(1) Durjani (2} Lep
(3) Gavanti (4) Oar
Options :

92090692537. 1
92090692538. 2
92090692539. 3
92090692540. 4

Question Number : 35 Question Id : 92090623413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafad 9 8 &9 91, §d &1 IR HiT Ue R 78] 87

(1 g (2) @9
(3)  TEcH ) 3R
Options :

92090692537. 1
92090692538. 2
92090692539. 3
92090692540. 4

Question Number : 36 Question Id : 92090623414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one below is not a type of Elastomeric fibre -

1 The crosslinked natural and synthetic rubbers.

3
4) VINAL fibres (Combination of spandex and viny| alcohol)

)]
(2) Anidex fibre, the side by side biconstituent fibre of nylon and spandex.
() Spandex fibres

{

Options :

92090692541. 1
92090692542. 2
92090692543. 3
92090692544. 4

Question Number : 36 Question Id : 92090623414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
+1d Ru e & & 9 91 0o TR &1 Uras] 1 6§ -

(1) foadeg uelas ok s Iae

2) UST BER, A R WSH 1 YgE® g sagd
(3) oo

(4) e Y (e o fdead se@tEa)

Options :

92090692541. 1
92090692542. 2
92090692543. 3



92090692544. 4

Question Number : 37 Question Id : 92090623415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il ;

List | List [l

(Type of Dyes) [Fastness)
(A) Pigment Dyes () Very poor in fastness to sea water
(B) Basic Dyes (Cationic) (Il Poor (light shades) in fastness to light
(C) Disperse Dyes () Very poor (dark shades) in crocking
(D) Sulfur Dyes (IV) Stains wool badly

Choose the correct answer from the options given below:

(1) (A)-(I1), (B)-(IV), (C)-(H1), (D)-(1)
(2) (A)-(1E), (B)-(1), (C)-(1V), (D)-(I1)
(3 (A)-(1), (B)-(1V), (C)-(1), (D)-(Ih)
(4)  (A)-(IV), (B)-(HL), (C)-(1), (D)-{11)
Options :

92090692545. 1

92090692546. 2

92090692547. 3

92090692548. 4

Question Number : 37 Question Id : 92090623415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & T g 1 1 e Sife

gdi-| (ST & UaR) gell-I1 (BT
(A) o () g od § Hfd e TEeE
(B) SMUR T (BfeaifFd) () WS T dgd bl (Geb T P)
(€ TEauganim () dgd &Y fREaTn @8I THn
(D) BT (V) TR ITEN e
e e T fad el § @ Hel IR &1 99 FIT

(1) (A)=(I1), (BY=(IV), (C)- (1), (D)-(1)
2} (A)-(In, (B)-(1), (C)-(IV), (D)-(I)
3} (A)-(), (B)-(IV), (C)-(1), (D)-(I)
(4)  (A)-(IV), (B)-(1), (C)-(1), (D)-(11)

Options :

92090692545. 1
92090692546. 2
92090692547. 3
92090692548. 4

Question Number : 38 Question Id : 92090623416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Ribbed weave fabric is also known as unbalanced fabric.

Reasons (R): A balanced fabric would have the warp and filling yarns as well as the
yarns per inch of both warp and filling yarns exactly the same.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R} are correct and (R) is the correct explanation of (A)
(2} Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3} [A) is correct but (R) is not correct

{4) (A) is not correct but (R) is correct

Options :
92090692549. 1
92090692550. 2



92090692551. 3
92090692552. 4

Question Number : 38 Question Id : 92090623416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 G FyA U e 8 U HNFHYA (Assertion A) & wY H fifEd 8 ol gOv 39
@R[ (Reason R) & T4 T

HUSYT A © IR G GUSYS B Sdfed $US & 9 H ot &1 S 21

HRUIR U Hgferd HUS § a1 T WIS ¥ & 91Y-9 a1 SR WS 93 & uid §9
H90- 94 e g

UG HYA & el § A fau v fawedl § O 98 I &1 904 $ifere

(1) A3MRRIFITEE SRR A D G B R

(2) A SRREH T8l 8 df9 R, A T U6l SIREN 6l &
{

{

£

3) AYRIE AFIRUT TRl
4 ATGTEIE AFTRTEI®

St

Options :

92090692549. 1
92090692550. 2
92090692551. 3
92090692552. 4

Question Number : 39 Question Id : 92090623417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the statement is not true for basket weave?

(1) In two by two basket weave, the warp yarns in pair interlace in plain weave order
with the filling yarns in pair.

(2)  Basket weave fabrics are made with high yarns per inch with low twist yarns to
increase the weave effect.

(3) Fabrics with basket weaves are reversible unless the finish or print makes are one
side an the face.

(4) Basket weave is a type of decorative weave.

Options :

92090692553. 1
92090692554. 2
92090692555. 3



92090692556. 4

Question Number : 39 Question Id : 92090623417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090692553. 1
92090692554. 2
92090692555. 3
92090692556. 4

Question Number : 40 Question Id : 92090623418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not an embroidery of Gujarat?

(1) Moti Bharat (2} Mochi Bharat
(3) Heer Bharat (4) Thirma
Options :

92090692557. 1
92090692558. 2
92090692559. 3
92090692560. 4

Question Number : 40 Question Id : 92090623418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) Hidl 4 (2) HrE I
(3) BRIYd (4) TeRmm
Options :

92090692557. 1
92090692558. 2
92090692559. 3
92090692560. 4

Question Number : 41 Question Id : 92090623419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List I ;

List | List 1l
(A) Top dyeing ()  After yarn has been
constructed into fabric
(B) Piece dyeing () In combed sliver stage
{C) Dope dyeing (1) In the fiber stage
(D) Stock dyeing (V) Before a manmade fiber

extruded through a spinneret

Choose the correct answer from the options given below:

(M (A=, (B)-(1), (C)-(1V), (D)-(11)

(2)  (A)-(), (B)-(1V}, (C)-(1N), (D)-(1)

(3)  (A)-(I, (B)-(IV), (C)-(1), (D)-(11)

(4} (A)-=(l), (B)-(1), (CQ)-(I), (D)-(1V)
Options :

92090692561. 1
92090692562. 2
92090692563. 3
92090692564. 4

Question Number : 41 Question Id : 92090623419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A=, (B)-(1), (C)-(1V), (D)-(H1)
(2)  (A)-(), (B)-(1V), (C)-(lI), (D)-(1)
(31 (A=, (B)-(1V), (C)-(1), (D)-(li)
(@) (A=), (B)-(1), (Ch-(), (D)-(1V)

Options :

92090692561. 1
92090692562. 2
92090692563. 3
92090692564. 4

Question Number : 42 Question Id : 92090623420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| @ “Indanthrene” indicates that a special type of dye has been used
that is particularly fast to light and to washing.

Statement |l : The chemical agent that binds the dye to a fiber is known as
“mordant”.

In the light of the above statements, choose the correct answer from the options
given below :

(1 Both Statement | and Statement |l are correct
(2) Both Statement | and Statement [l are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement |l is correct

Options :
92090692565. 1
92090692566. 2



92090692567. 3
92090692568. 4

Question Number : 42 Question Id : 92090623420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090692565. 1
92090692566. 2
92090692567. 3
92090692568. 4

Question Number : 43 Question Id : 92090623421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The wrinkle recovery of a fabric doesn't depend on which factor given below -

(1) Fiber content of the fabric (2) Color fastness of the fabric
(3) Thickness of the fabric (4) Weave of the fabric
Options :

92090692569. 1
92090692570. 2
92090692571. 3
92090692572. 4

Question Number : 43 Question Id : 92090623421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

92090692569. 1
92090692570. 2
92090692571. 3
92090692572. 4

Question Number : 44 Question Id : 92090623422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Renowned couturier "Paco Rabanne” created twelve contemporary dresses in 1965 and
named them -

(1) The Wearables (2) Wearable art
(3} The Unwearables (4) Mew Look
Options :

92090692573. 1
92090692574. 2
92090692575. 3
92090692576. 4

Question Number : 44 Question Id : 92090623422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090692573. 1
92090692574. 2
92090692575. 3
92090692576. 4



Question Number : 45 Question Id : 92090623423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 2/1 twill weave refers to -

(1 Two up, one down (2) One up, two down
(3) 2 diagonals upward to right (4) 2 diagonals upward to left
Options :

92090692577. 1
92090692578. 2
92090692579. 3
92090692580. 4

Question Number : 45 Question Id : 92090623423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090692577. 1
92090692578. 2
92090692579. 3
92090692580. 4

Question Number : 46 Question Id : 92090623424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is not Handloom variation in lndia?

(1) Treadle loom (2} Pit loom
(3} Rapier loom (4) Loinloom
Options :

92090692581. 1
92090692582. 2
92090692583. 3
92090692584. 4



Question Number : 46 Question Id : 92090623424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090692581. 1
92090692582. 2
92090692583. 3
92090692584. 4

Question Number : 47 Question Id : 92090623425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is grain line in a fabric?

(1) Direction of warp and weft (2} Direction of weft
(3} Angle of twill weave {(4) Direction of warp
Options :

92090692585. 1
92090692586. 2
92090692587. 3
92090692588. 4

Question Number : 47 Question Id : 92090623425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090692585. 1
92090692586. 2
92090692587. 3



92090692588. 4

Question Number : 48 Question Id : 92090623426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bukhia and Katao styles are type of -

1) Kasheeda of Kashmir (2) Phulkari of Punjab
(3) Chikankari embroidery of Lucknow (4) Kantha of Bengal

Options :

92090692589. 1
92090692590. 2
92090692591. 3
92090692592. 4

Question Number : 48 Question Id : 92090623426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(3) @S o Heaerl seE (4) SIS B Hiwl
Options :

92090692589. 1
92090692590. 2
92090692591. 3
92090692592. 4

Question Number : 49 Question Id : 92090623427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Achromatic colors also known as =

(1 Colors within colors (2} Monochromatic colors
(3) Meutral colors (4) Complimentary colors
Options :

92090692593. 1
92090692594. 2



92090692595. 3
92090692596. 4

Question Number : 49 Question Id : 92090623427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090692593. 1
92090692594. 2
92090692595. 3
92090692596. 4

Question Number : 50 Question Id : 92090623428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Analogous or Adjacent color scheme indicates neighbouring
colours of the color wheel.

Statementll : ‘The Triad Harmony' is the combination of three equidistant
colours on the colour wheel.

In the light of the above statements, choose the correct answer from the options
given below :

1) Both Statement | and Statement |l are true
.
3

4) Statement | is false but Statement Il is true

Both Statement | and Statement |l are false

Tt

Statement | is true but Statement Il is false

i

(
(
(
(

Options :

92090692597. 1
92090692598. 2
92090692599. 3
92090692600. 4

Question Number : 50 Question Id : 92090623428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

92090692597. 1
92090692598. 2
92090692599. 3
92090692600. 4

Question Number : 51 Question Id : 92090623429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Full form of NITRA

1 Morth India Textile Research Association

N Morthern India Textile Research Association

(

(2} Morth Indian Textile Research Association

(

(4)  Northern Indian Textile Research Association

Options :

92090692601. 1
92090692602. 2
92090692603. 3
92090692604. 4

Question Number : 51 Question Id : 92090623429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090692601. 1
92090692602. 2
92090692603. 3
92090692604. 4

Question Number : 52 Question Id : 92090623430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

With exceptionally high pollutant discharge level textile industry is one of the most
polluting industries in the world, reasons being.

A Non - biodegradable dyes

Chemicals released during treatments and finishing

Toxic released during garment washing

Pesticides used during agriculture

mE g,

Product Stitching

Choose the correct answer from the options given below :

(1) B, C D Eonly
(2} A B C Donly
(3) GCDEAonly
(4} D, E A Bonly

Options :

92090692605. 1
92090692606. 2
92090692607. 3
92090692608. 4

Question Number : 52 Question Id : 92090623430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090692605. 1
92090692606. 2
92090692607. 3
92090692608. 4

Question Number : 53 Question Id : 92090623431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of these not a natural polymer?

(1) MNylon (2) Rubber
(2) Alginate (4) Acetate
Options :

92090692609. 1
92090692610. 2
92090692611. 3
92090692612. 4

Question Number : 53 Question Id : 92090623431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090692609. 1
92090692610. 2
92090692611. 3
92090692612. 4

Question Number : 54 Question Id : 92090623432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : Reed count = EPI/(1+Weft Crimp % age)
Statement |l : Reed width = Cloth Width *(100+ Weight Crimp % age)/100

In the light of the above statements, choose the correct answer from the options
given below :

(1 Both Statement | and Statement Il are true
(2
(3)

(4)  Statement | is false but Statement Il is true

Both Statement | and Statement |l are false

—t

Staternent | is true but Statement || is false

Options :

92090692613. 1
92090692614. 2
92090692615. 3
92090692616. 4

Question Number : 54 Question Id : 92090623432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090692613. 1
92090692614. 2
92090692615. 3
92090692616. 4

Question Number : 55 Question Id : 92090623433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which fibre is a regenerative cellulosic fibre?

(n Rayon {2} Cotton
(3)  Silk (@) Jute
Options :

92090692617. 1
92090692618. 2
92090692619. 3
92090692620. 4

Question Number : 55 Question Id : 92090623433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

14 91 ¥ U afel Aegaie Y g?

(1) WA (2) ¥
3) WH (4) G
Options :

92090692617. 1



92090692618. 2
92090692619. 3
92090692620. 4

Question Number : 56 Question Id : 92090623434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 Ply 40 Denier means:

(1) 2 yarns ply of 40 Denier each (2) 2 vyarns ply of 20 Denier each
(3) 2 yarns ply of 80 Denier each (4) 4 yarns ply of 10 Denier each
Options :

92090692621. 1
92090692622. 2
92090692623. 3
92090692624. 4

Question Number : 56 Question Id : 92090623434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090692621. 1
92090692622. 2
92090692623. 3
92090692624. 4

Question Number : 57 Question Id : 92090623435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : The shading is caused by uneven tensions on the fabric in beam-
dyeing.
Statement |l : Beam-dyed fabrics are not subject to the stresses and tensions

commaon to jig and pad methods of dyeing.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are true

(2) Both Statement | and Statement |l are false

(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

Options :

92090692625. 1
92090692626. 2
92090692627. 3
92090692628. 4

Question Number : 57 Question Id : 92090623435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090692625. 1
92090692626. 2
92090692627. 3
92090692628. 4

Question Number : 58 Question Id : 92090623436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Movelty yarns are not formed by:

(1) Uniform thickness {(2) Loops inyarmn
(3) Knots in yarn (4) Curlsinyarn
Options :

92090692629. 1
92090692630. 2
92090692631. 3
92090692632. 4

Question Number : 58 Question Id : 92090623436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tlaed] g3 FERICGE EHE G

(1) GHHEHER (2) HHHUG
(3 PWHWS (@) HWHHIA
Options :

92090692629. 1
92090692630. 2
92090692631. 3
92090692632. 4

Question Number : 59 Question Id : 92090623437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Polypropylene type of Olefin (Manufactured) fiber is thermoplastic and
resistant to mildew, thus used for industrial applications.

Reasons (R) : Polypropylene fibers have a soft, hand resembling wool/Kashmere thus
used for apparel and home furnishings.

In the light of the above statements, choose the correct answer from the options given
below :

(1 Both (A) and (R) are true and (R} is the correct explanation of (A)

(2) Both {A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Options :

92090692633. 1
92090692634. 2
92090692635. 3
92090692636. 4

Question Number : 59 Question Id : 92090623437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090692633. 1
92090692634. 2



92090692635. 3
92090692636. 4

Question Number : 60 Question Id : 92090623438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mulberry is a kind of

(n Waool (2) Silk
(3) Cotton silk blend (4) Flax blend
Options :

92090692637. 1
92090692638. 2
92090692639. 3
92090692640. 4

Question Number : 60 Question Id : 92090623438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MWEUHUBRB 3l

(1) &4 (2) &M

(3) Iy gy Hury (4) Telay gigyor
Options :

92090692637. 1
92090692638. 2
92090692639. 3
92090692640. 4

Question Number : 61 Question Id : 92090623439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) :  Felt does not fray or ravel.
Reasons (R) : Felt fabrics can be blocked to shape in all directions

In the light of the above statements, choose the most appropriate answer from the
options given below :
(1) Both (A} and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are carrect but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct
(4) {A) is not correct but (R) is correct
Options :
92090692641. 1
92090692642. 2

92090692643. 3
92090692644. 4

Question Number : 61 Question Id : 92090623439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 ) FuA 3U U §: U SHHSYA (Assertion A) & w9 H fifEd g o gav g8
&R (Reason R) & ¥4 ff

YA A . Uee IYSdl U1 Il T8l 8
HRUIR : Tree ®US &1 gl fEunall § R 29 8 =dle fa o gaan 2|
JUER Y F e §, 1 v e el | 9 w4l 3w & ggh Fifon

(1) ASRREFIYE R AD Hel TS 8

(2) A SRREH 9 g AP R, A D Gel SIS 6l §
(3) AYHE AfFTRITAE

(4) ANTIE AFTRUAE

e

Options :

92090692641. 1
92090692642. 2
92090692643. 3
92090692644. 4

Question Number : 62 Question Id : 92090623440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List | with List I :

List | List I
(&) Kanchipuram sarees {I)  Aurangabad
(B) Paithani sarees {1 Tamil Nadu
(C) Baluchari sarees (1) Murshidabad
(D) Jamdani sarees {(IVY Dhaka

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(1), (C)-(l1), (D)-(I)
(2} (A)-(, (B)-(1), (Q)-(I), (D)-(IV)
(3)  (A)-(lIT), (B)-(1), (C)-(IV), (D)-(11)
(@) (A=, (B)-(1), (C}-(1), (D)-(1V)

Options :

92090692645. 1
92090692646. 2
92090692647. 3
92090692648. 4

Question Number : 62 Question Id : 92090623440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il | & |y g 1 @ A sifen

- -1
(A) s gyl () SEEg
(8) U Tifza ) afieEng
© agEd s D (EA LI
(D) wHEH! aifEy (1v) BTl
4 fu o fawadl | & 98 IR &1 994 sife

(10 (A)-(V), (B)-(1), (C)-CID), (D)-(HI)
(2)  (A)-(l), (B)-=(1), (C)-(1hn), (D)-(1V)
(3Y (A, (B)-(, (Q)-(IV), (D)-(1)
(4y  (A)=(H), (B)-(1H), (C)-(1), (D)-(1V)

Options :
92090692645. 1
92090692646. 2



92090692647. 3
92090692648. 4

Question Number : 63 Question Id : 92090623441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What foreign contents are present in greige fabric that are required to be removed for
further process

(1 Cils and Waxes (2) Chemicals
(3 Moisture 4y Odour
Options :

92090692649. 1
92090692650. 2
92090692651. 3
92090692652. 4

Question Number : 63 Question Id : 92090623441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gﬁa@m@ﬁﬁ@wmmm%mmmmamﬁwmm

(1) da{Rdm (2) TETE
(3) (4) Ty
Options :

92090692649. 1
92090692650. 2
92090692651. 3
92090692652. 4

Question Number : 64 Question Id : 92090623442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ramie fibre is also known as :-

(1 White fibre / China grass (2) Hemp
(3) Jute (4} Bamboo



Options :

92090692653. 1
92090692654. 2
92090692655. 3
92090692656. 4

Question Number : 64 Question Id : 92090623442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt ¥ 9 9 i S S |

(1) &a e/ am 2) Tm
3 ¢ (4) @
Options :

92090692653. 1
92090692654. 2
92090692655. 3
92090692656. 4

Question Number : 65 Question Id : 92090623443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What does tenacity in fabric refer to?

(1 Colour fastness against sunlight (2) Strength of textile fabric
(3) Rub fastness (4} Fibre content
Options :

92090692657. 1
92090692658. 2
92090692659. 3
92090692660. 4

Question Number : 65 Question Id : 92090623443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HUS P TUGT] BT 7 34 27

1y wWalwsFRrgwaRrm (2 7969 F $u o gogd
3) VIS & fwg el R (4) & gt

Options :

92090692657. 1
92090692658. 2
92090692659. 3
92090692660. 4

Question Number : 66 Question Id : 92090623444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Thickner, used as a medium to make printing paste can not be made from which of the
following :-

(1) Man-made gums (2} MNatural gums
(3) Polymer based gums (4) Silicon based gums
Options :

92090692661. 1
92090692662. 2
92090692663. 3
92090692664. 4

Question Number : 66 Question Id : 92090623444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wurg ({ifém I s §q ue T & w0 A7 39 fhu oM aren e freifed 3 @
R EREC ISR CTIE

(1) °=4 fAfifd i (2) wIFHfas g
3)  oiferR snurfed g 4) Fefteia snefea Tifg
Options :

92090692661. 1
92090692662. 2
92090692663. 3
92090692664. 4



Question Number : 67 Question Id : 92090623445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Advantages of Flat bed printing

(1) Cost of screen preparation is lowest

(2} Half tone design are easy to achieve
(3)  Length wise stripe design possible

(4) Big size screen pattern possible

Options :

92090692665. 1
92090692666. 2
92090692667. 3
92090692668. 4

Question Number : 67 Question Id : 92090623445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uele 98 BUTS & a1

(1) EPH TR $39 S ard $9 9 &9 grft
(2)  &peH fEemss et &9 9vd §

(3) ErRdaR yidl feeea dya g

(4) 98 PR FIEHH e dHT 8

Options :

92090692665. 1
92090692666. 2
92090692667. 3
92090692668. 4

Question Number : 68 Question Id : 92090623446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The weight of 1,260,000 yards of 30's cotton yarn single ply, 2-ply (2/30's) and 3-ply
(3/30's) yarn would be respectively (in kgs)

(1) 40 kgs, 80 kgs, 160 kgs (2) 45 kgs, 90 kgs, 180 kgs
(3)  22.5kgs, 45 kgs, 90 kgs (4) 180 kgs, 90 kgs, 45 kgs

Options :



92090692669. 1
92090692670. 2
92090692671. 3
92090692672. 4

Question Number : 68 Question Id : 92090623446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30's & Yot 41 &1 U TS, 2-T@T5 (2/30's) R 3-TaTS (3/30's) YT T 1,260,000 TH BT HR
a: (foen 9 ) 8 -

(1) 4o faran o, so fawen o0, 160 @ o,

@ 45 e a, 9o fasen w1, 180 fsa .

(3) 225 fael o, 45 faet 7, 9o fared 7,

@) 180 faem U1, oo a5 a1, 45 fa o

et

Options :

92090692669. 1
92090692670. 2
92090692671. 3
92090692672. 4

Question Number : 69 Question Id : 92090623447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tussar silk is also called as

(n Treated silk (2} Wild silk
(3 Fine silk (4) Green silk
Options :

92090692673. 1
92090692674. 2
92090692675. 3
92090692676. 4

Question Number : 69 Question Id : 92090623447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UL T & 1l w51 S B

(1) Iudiid ¥eE (2) FUIH
(3) dfgmym (4) BUIYH
Options :

92090692673. 1
92090692674. 2
92090692675. 3
92090692676. 4

Question Number : 70 Question Id : 92090623448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Twist of yarn in clockwise direction is called :

(1) S twist (2) Ztwist
(3} M twist (4) M twist
Options :

92090692677. 1
92090692678. 2
92090692679. 3
92090692680. 4

Question Number : 70 Question Id : 92090623448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl & g 1 3§ W & q0E 1 FEd § -

(1) SYAE (2) z9Ad
(3} N HHd (4 ™M YHIG
Options :

92090692677 1
92090692678. 2
92090692679. 3
92090692680. 4

Question Number : 71 Question Id : 92090623449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The textile parcel train runs between which of the two states -

(1) Tamilnadu - Gujarat (2) Rajasthan - Bihar
(3) Gujarat - Bihar (4) Gujarat - Telangana
Options :

92090692681. 1
92090692682. 2
92090692683. 3
92090692684. 4

Question Number : 71 Question Id : 92090623449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eqeTsa Urdd o fde g1 Il & ot gl 82

(1) g - TeRTd (2) TR - fagR
3) TR -faER (4) TG - AETH
Options :

92090692681. 1
92090692682. 2
92090692683. 3
92090692684. 4

Question Number : 72 Question Id : 92090623450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Covered elastic yarns have core yarn as :

(1 Cotton (2) Polyester
(3) Spandex (4) Mylon
Options :

92090692685. 1
92090692686. 2
92090692687. 3
92090692688. 4



Question Number : 72 Question Id : 92090623450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F9S TR G H oRUT G R

(n I (2) Ul
3) W3 (4) GG
Options :

92090692685. 1
92090692686. 2
92090692687. 3
92090692688. 4

Question Number : 73 Question Id : 92090623451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Properties of Acid dyes are :

(1) Good light fastness (2) Good wash-fastness
(3) Poor colour uptake (4 Good for cotton or cellulosic fibres
Options :

92090692689. 1
92090692690. 2
92090692691. 3
92090692692. 4

Question Number : 73 Question Id : 92090623451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HFATG SR U T

() o Tl F R (2) sl yars R

3) P araeio @) gl a Segafye v & for gan
Options :

92090692689. 1
92090692690. 2
92090692691. 3
92090692692 4



Question Number : 74 Question Id : 92090623452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : Jute has no Lusture.

Statement Il : Cotton is the strongest natural fibre.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement [l are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement |l is incorrect

(4) Statement | is incorrect but Statement |l is correct

Options :

92090692693. 1
92090692694. 2
92090692695. 3
92090692696. 4

Question Number : 74 Question Id : 92090623452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GERAEaTC AT

& | ; o | 90 T8 gt

HYA || : Gd Falfid Togd I ¢

JUIE FUA F sieies H, 9 AU T faged] ¥ @ wel IR &1 99 Fif

(1) HY 1SRN EH T8 §
() HYA 1 AR 1 e §
(3) U HE e, Af duA nEd 8
(4) YT 8, AfE Y 1 HEl 8
Options :
92090692693. 1
92090692694. 2

92090692695. 3
92090692696. 4



Question Number : 75 Question Id : 92090623453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following fabrics is the lighest in weight?

(1) Fabric A - 603/yd - 40" wide (2) Fabric B - 603/yd - 45" wide
(3} Fabric C - 603/yd - 50" wide (4) Fabric D - 603/yd - 58" wide
Options :

92090692697. 1
92090692698. 2
92090692699. 3
92090692700. 4

Question Number : 75 Question Id : 92090623453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frefafaa 3 @ @19 9 $us] a99 § 99 el 67

(1)  PHUSTA - 60379 - 40" TS (2) HYSIB - 605/7T4 - 45" 1T
(3) PUSIC - 603/ - 50" TSl (4) HUSID - 603/7TS - 58" AIS
Options :

92090692697. 1
92090692698. 2
92090692699. 3
92090692700. 4

Question Number : 76 Question Id : 92090623454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Fusible nonwoven fabrics contribute to lower costs and higher
production rates in apparel manufacturing.

Reasons (R) : Fusible nonwoven fabrics replaced the need for highly skilled tailoring
and stitching on the underlined portions of tailored clothing.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 {A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

92090692701. 1
92090692702. 2
92090692703. 3
92090692704. 4

Question Number : 76 Question Id : 92090623454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 31 Hy U MU §: U AHfiEuA (Assertion A) & ¥ 1 foifEd & o g1 39S
@R[ (Reason R) & ¥ &

HftpyE A - TEeElld IR-gAEd U aita Fofon O o0 ard SR 39 Saega @ o
GRTEH F3 8

HRUIR : Ta-Eie TR-garad] susl A faafan sl & R & el w e o
ey pare foems &t snasgmar &1 uforenfia &

JURIaR @Y o ATl 4, Ag fgu 71U faeedt & 9 98l I &1 994 difag
(1) ARRI TS & IR, A &GS BT 8

(2) AJRRIFEITE E AP R AP TR @I AL ©

(

3) AWglE AfFTR TG TRl 8
4 AGSIEIe dAfFTREEE

iy

Options :
92090692701. 1
92090692702. 2



92090692703. 3
92090692704. 4

Question Number : 77 Question Id : 92090623455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a protein fiber obtained from camel?

(1) Mohair (2) Alpaca
(3 Cashmere (4} Pashmina
Options :

92090692705. 1
92090692706. 2
92090692707 3
92090692708. 4

Question Number : 77 Question Id : 92090623455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frefafaa 3 G &= o de 3 U Uida | e

(1) =gl (2)  HEATH]
3) SR 4) g
Options :

92090692705. 1
92090692706. 2
92090692707 3
92090692708. 4

Question Number : 78 Question Id : 92090623456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which dye is used on pattern paper for heat transfer printing?

(1 Disperse Dye (2) Sulfuric Dye
(2) WVat Dye (4) Acid Dye
Options :

92090692709. 1
92090692710. 2



92090692711. 3
92090692712. 4

Question Number : 78 Question Id : 92090623456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aTg iRy s & o Oed erd W e S @1 Iugi faEa S g2

1 fead el (2) G 818
3) dCTE (4) arfla 318
Options :

92090692709. 1
92090692710. 2
92090692711. 3
92090692712. 4

Question Number : 79 Question Id : 92090623457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement| : ‘Menthi' is the fourth type of stitch which means the ordinary
cross stitch.

Statement [l : In Karnataka 'menthi’ means fenugreek.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement H are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

Options :

92090692713. 1
92090692714. 2
92090692715. 3
92090692716. 4



Question Number : 79 Question Id : 92090623457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e @y Ry g

&y |« T Y UER &1 fhers 2, forget e g armon uia-fers |
&Y | : FATed H Tt &1 o g gl

IR HYA & el B, Aid fou 1y fawed § 9 gl 3w &1 999 Biforg

(1) FFEI AT TE

@ RN EE S

(3) &Y | H g, dfth YA 11 39 8
(4)  @HUF| A g, AT Y 1 I 8
Options :

92090692713. 1

92090692714. 2

92090692715. 3
92090692716. 4

Question Number : 80 Question Id : 92090623458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What properties are considered in burning test

(1) Color of fabric

(2) Melting characteristic of fibre and remains after burning
(3)  Weight of fabric

{4)  Strength of fabric

Options :

92090692717. 1
92090692718. 2
92090692719. 3
92090692720. 4

Question Number : 80 Question Id : 92090623458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e g o fos= 1oif ov faer fasar i g2

(1) HUSHI

2) & Oged &t lTdwd iR 994 & 915 & a9y
(3) HUS FIdH

(4) HUS B! A

Options :

92090692717. 1
92090692718. 2
92090692719. 3
92090692720. 4

Question Number : 81 Question Id : 92090623459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is a demerit of nylon?

(n Nylon is unaffected by alkalies
(2
(3
(

4)  Nylon is resilient and elastic

—

Nylon build up static electricity

et

Nylon has abrasion resistance

Options :

92090692721. 1
92090692722. 2
92090692723. 3
92090692724. 4

Question Number : 81 Question Id : 92090623459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFr=fefaa 8 @ &9 91 ATaEl &1 0P Sl 7
(1) AV &R gR1 Smyufad &

2 e e fAegges evar g

(3)  ArdrE o e ufeRiy g

(4) A ufaded o adten g g

Options :



92090692721. 1
92090692722. 2
92090692723. 3
92090692724. 4

Question Number : 82 Question Id : 92090623460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il ;

List | List 1l
(A) Relaxation shrinkage (I}  Shrinkage after pre-shrunk
(B) Progressive shrinkage (Il Cut fibers on the surface of
the fabric
(C) Residual shrinkage ()  Shrinking due to laundering
(D) Shearing (IV) Shrinkage due to tension in

fibers and yarns

Choose the correct answer from the options given below:

(1) (A)-(1V), (B)-(I), (C)-(), (D)-(1)

(2)  (A)-(IV), (B)-(1i1), (C)-(1), (D}-(I1)

(3) (A)-(IV), (B)-(I), (C)-(1), (D)-(1)

(4) (A=), (B)-=(l1), (C)-(1), (D)-(IV)
Options :

92090692725. 1
92090692726. 2
92090692727. 3
92090692728. 4

Question Number : 82 Question Id : 92090623460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & Ty g 1 &1 fraE sifen

e gl

(A) Ty darEm n gd e & 918 o1 fgs
8) wifaEiia YalEA () FIS DI HIFRFC U W
(€) AR HPad (i 9 & R e

(D) A (V) ¥R R GF H 791 & FRY P
2 feu u el © 9 et I @1 9 Sifen:

(1) (A)-(IV), (B)-(I), (C)-(I), (D)-(1)

(2} (A)-(IV), (B)-(1th), (O)-(1), (D)-(I1)

(3)  (A)-(IV), (B)-(1), (C)-(. (D)-(1)

(4)  (A)-(), (B)-(1), (O)-(1), (D)-(IV)
Options :

92090692725. 1
92090692726. 2
92090692727. 3
92090692728. 4

Question Number : 83 Question Id : 92090623461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the 'steps involved in stages of dyeing in correct order.

Al Sewn product dyeing
B. Fabric dyeing
C Fiber dyeing

D. Yarn dyeing

E. Prefiber dyeing

Choose the correct answer from the options given below :

(17 CDEEBA
(2) CEDEA
(3) EDCBA
(4) ECDEA

Options :
92090692729. 1
92090692730. 2



92090692731. 3
92090692732. 4

Question Number : 83 Question Id : 92090623461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[T & =on § Infie =l &) 98l oy § sJafiyd $:

A e 3ae e

B. PUSIVME

C. YEnyms

D. M

E. gd-3n s

e v T fgeedl & 4 w&t IR &1 9 Hifor
(1) CDEBA

(2) C,ED B A

(3} ED CBA

(

4} E.CD B A

Options :

92090692729. 1
92090692730. 2
92090692731. 3
92090692732. 4

Question Number : 84 Question Id : 92090623462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



To measure thread count of a fabric.

A Fabric

E. Pick glass

C Pick needle

D. Count ends per inch
E.

Count picks per inch

Choose the correct answer from the options given below :

(1) ABCDE

(2} DABCE

(3) EA B CD

(4) DAECE
Options :

92090692733. 1
92090692734. 2
92090692735. 3
92090692736. 4

Question Number : 84 Question Id : 92090623462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Us $US & Y B et & g o= sawas 2

A BYEl

B. [ @y

c fo® ey

D. W g= 8RR $ e

£ ufd &= faw &t 7o
e f2u o faeedi # @ uel I &1 9uH Bifvu -

(1) ABCDE
2) DABCE
3 EABCGD
(4) DABCE

Options :
92090692733. 1



92090692734. 2
92090692735. 3
92090692736. 4

Question Number : 85 Question Id : 92090623463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) 1  Tie and dye technique is a kind of resist printing.
Reasons (R) It is also called as discharge printing technigue.

In the light of the above statements, choose the most appropriate answer from the
options given below :

1 Both (A) and (R) are correct and (R) is the correct explanation of (A)
2
3

4} [A) is not correct but (R) is correct

S

Both (A) and (R} are correct but (R) is NOT the correct explanation of (A)

o

(
(
{ (A) is correct but (R) is not correct
(

Options :

92090692737. 1

92090692738. 2

92090692739. 3
92090692740. 4

Question Number : 85 Question Id : 92090623463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A g1 By U T §: U SfHEHUA (Assertion A) & w0 H foifed § o) go 39d
&0l (Reason R) & =0 H:

By A ;. T UUE BT U UBR @ e U |
HRUIR =4 fewam guE da-e i F81 I gl
I HuE & Adrd |, e e o fawedi § 9 9l 9w & 9uA wifor

(1)  ASIRREF 96l g 3R, A &1 gl SIS §

(2) AR RIA TE E AfF R A B UE e T8 8
(3) ATHE IRFTIRIE T

(4 AGSTEIR dAfFIRTE |

Options :

92090692737. 1

92090692738. 2

92090692739. 3

92090692740. 4

Question Number : 86 Question Id : 92090623464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Correct sequence of Batik printing process is as followed -

A Fabric mounting

B. Drawing by pencil

C. Wax application

D. Dyeing

E. Washing in boiling water

Choose the correct answer from the options given below :

(1) ABCDE
(20 B ACDE
(3} EABCD
{4} DABCGCE

Options :

92090692741. 1
92090692742. 2
92090692743. 3
92090692744. 4



Question Number : 86 Question Id : 92090623464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

difed BT Widhal &1 Uel FH JHUPR § -

A, USTFgrHl

B. UTHd 8 Y@id el

C.  HH HuEm

D. ¥ig

E. Jddd U & 4

At feu Ty fasedt O & |l 39 &1 994 B -

(1) ABCDE
() BACDE
) EABCD
() DA BCE

Options :

92090692741. 1
92090692742. 2
92090692743. 3
92090692744. 4

Question Number : 87 Question Id : 92090623465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ;

Statement| : For a fabric to accept natural dyes mordanting has to be done or
else the fabric is unable to absorb dyes.

Statement |l : Mordant are intermediary substances which help the fabric to
repel the dye and ensure fast dyeing.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement Il are true
(2 Both Statement | and Statement |l are false
(
(

S

3

4) Statement | is false but Statement |l is true

Statement | is true but Statement |l is faise

L]

Options :

92090692745. 1
92090692746. 2
92090692747. 3
92090692748. 4

Question Number : 87 Question Id : 92090623465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 g Py Rumu g

®HY | ;- dUs § uipfas T o1 Wield gg aidien & uedl 81 93 $ust ¥ &)
HRE ¥ e g g

Y || - Hide S Ty ugrd § o $US &1 28 & v § v o g o dg
T gty svar g

Juiad ®uE & et J e 2w o faeel § 9 g8t 3w &1 904 sifen

(1) &Y AR ST a8

(2) 1R T e

(3) YT 1T B, AP B 11 AT
(4) HUF | HTA g, Afb FYF 11 T §

Options :

92090692745. 1
92090692746. 2
92090692747. 3
92090692748. 4



Question Number : 88 Question Id : 92090623466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a trade name of spandex?

(1) Numa (2) Lycra
(3} Glospan (4) Asbestos
Options :

92090692749. 1
92090692750. 2
92090692751. 3
92090692752. 4

Question Number : 88 Question Id : 92090623466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fre=ifda O &9 O W3e &1 28 A1 A8l 82

(1) (2) TEH
(3) e (4) UEEY
Options :

92090692749. 1
92090692750. 2
92090692751. 3
92090692752. 4

Question Number : 89 Question Id : 92090623467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : Warp or weft floats over two or more counterpart yarns,
progressively stepped up in right or left direction is twill weave.

Statementll  : Denim, drill, gabardine, tweed, houndstooth and herringbone are
examples of twill weave.

In the light of the above statements, choose the correct answer from the options
given below :

(1 Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(2) Statement | is true but Statemaent |l is false
(4) Statement | is false but Statement Il is true

Options :

92090692753. 1

92090692754. 2

92090692755. 3
92090692756. 4

Question Number : 89 Question Id : 92090623467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s Rrmue

&Y | - a1 9151 8 s gOHa GF B FU dF 91 9 F Ueiley, o wfaeie wy
Y I 91 910 FUR BT AR g 8, d 38 Zfad g FEa g

&Y 11 - B, fga, mafds, odte, grdewy ok el |4, 2fad §91E & ISR B
TJUH HYA F el H, i 3 o fFeed 8 9 9d I @1 994 i

1) SRS TIE

(2)  HYEI SR EE S E

(3) Y| I g, AfeH BUF 1 T B
(4) Y| A B, Al HY 11 9T B

L]

Options :

92090692753 1
92090692754. 2
92090692755. 3
92090692756. 4

Question Number : 90 Question Id : 92090623468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A): 20 Ne count is a thicker yarn than 60 Ne count yarn.

Reasons (R) : Cotton count number is inversely proportional to the thickness
of the yearn.

In the light of the above statements, choose the most appropriate answer from the
options given below :

n Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s carrect but (R) is not correct
(4) (A) is not correct but (R) is correct
Options :
92090692757. 1
92090692758. 2

92090692759. 3
92090692760. 4

Question Number : 90 Question Id : 92090623468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 g1 By U Y §: U U (Assertion A) ¥ w0 1 fofead 8 o) g8 39S
U] (Reason R) & ¥4 O:

HBYT A - 20 Ne TUF] 60 Ne TTOHT 93 & T84 G 8|
HRUIR ; el UM @ g @ Hiers & faufva srqufas 2
JUE HYA & et 1, 19 U e el 7 8 |l I &1 994 o

(1) AR R U € SRR, A B HEl SRS &

2) ARG E PR AP TR BN AR
(

{

—

3) AYglE afFIRUEI "Gl B
4) AWE Tl e, AfFTR IR ®

et

Options :

92090692757. 1
92090692758. 2
92090692759. 3
92090692760. 4



Question Number : 91 Question Id : 92090623469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the steps involved in the preparation of greige fabric for printing -

A Scouring
B. Desizing
. Bleaching
D. Singeing
E. Washing

Choose the correct answer from the options given below :

(1) D.B.ACE
(2} D.ABCE
(33 ADBEC
(4) ADBCE
Options :
92090692761. 1
92090692762. 2
92090692763. 3
92090692764. 4

Question Number : 91 Question Id : 92090623469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WS & [0 I U &) JuR &3 § Wind =07 &) srafiyg &3

A BRI

B. feamsfm

c.  sfEn

D. REEn

E. difem

9 fu T el 0 § wEt 39w &1 9g- S -
(1) D,BACE

2) DABGCE

3) ADBEC

(

4} A DBCE

Options :

92090692761. 1
92090692762. 2
92090692763. 3
92090692764. 4

Question Number : 92 Question Id : 92090623470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il
(A) Ghara (I  Karnataka
(B) Kasuti () Gujarati
(C) Chop (MM} Bihar
(D) Sujani {IV) Punjab

Choose the correct answer from the options given below:

(1 (A)=(I), (B)-(1), (Ch-1), (D)-(1V)
(2 (A)-(11), (B)-(1), (C)-CIV), (D)-{1)
(3 (AJ-(IV), (B)-(lI1), (C)-(1), (D)-(IT)
(4)  (A)-(1), (B)-(11), (C)-(HT), (D)-(IV)

e

Options :
92090692765. 1
92090692766. 2



92090692767. 3
92090692768. 4

Question Number : 92 Question Id : 92090623470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4l | & Ty gat 1 &1 faE s

ell-| Tl

(A) EWI (y HACD

(B) gl ) I

() ©m any TEER

(o) ol (V) O
4 U fawedl O § gl IR &l 9 S
(1} (A)=(11, (BY-(1, (C)=(H1), (D)-(1\)
(2} (A)=(11, (BY-(13, (C)=(IV), (D-(111)
(3) (A)-(IV), (B)-(li1), (C)-(D), (D)-(11)
(4) (A)-(1), (B)-(11), (C)-(11), (D)-(1V)

Options :

92090692765. 1
92090692766. 2
92090692767 3
92090692768. 4

Question Number : 93 Question Id : 92090623471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Three basic weaves are plain, twill and satin weaves.

Reasons (R) ¢ All the other weaves are variations of these three weaves,

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R} are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R} is NOT the correct explanation of (A)
(3} (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

92090692769. 1
92090692770. 2
92090692771. 3
92090692772. 4

Question Number : 93 Question Id : 92090623471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A g1 By AU MU §: U aHfiiduA (Assertion A) & 0 H foifed & @ g gus
&Rl (Reason R) '33'?5“173'[.

AimyA A - e, Ra o wfe e g ¥
HRUIR : 3 gt g8 g i ges ot @1 fafderamt €
JURIF T & ATt B, i 3w T fasedt 9 98 IR &1 999 Siferg

(1) ASIRREF T8l € 3T R, A 1 Tel &rE &

(2) ASMRREHE G € AfBR, A B UE TS TEl 8
(3) A¥EIE dfFTR IS TE®

4) AT TNE ABTREAT

Options :

92090692769. 1
92090692770. 2
92090692771. 3
92090692772. 4



Question Number : 94 Question Id : 92090623472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il ;

List | List [l
(A) Plain selvedge () Basketweave
(B) Tape selvedge (1) Shuttlessloom
(C) Fringe selvedge () More ends in the selvedge
(D) Center or split selvedge (IV) Fabric to be cut in two lengthwise

Choose the correct answer from the options given below:

(1) (A)-(), (B)-(1), (C)-(11), (D)-(1V)
(2)  (A)=(IV), (B)-(I1), (C)-(1), (D)-(11)
(2)  (A)-(, (B)-(I), (O)-(1), (D)-(1V)
(4)  (A)-(V), (B)-(IL), (C)-(1), (D)-(1)

Options :

92090692773. 1
92090692774. 2
92090692775. 3
92090692776. 4

Question Number : 94 Question Id : 92090623472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I | & 1y =R 1 BT e Sife

| -1l
() HIE A m  FEN TR
(B) U & () reTeH
() Fibd deaw (i Iead o 3ifes 8RR
(D) FEmURAUGEIET  (v) FUS P ddls & FEY G URT H ST
- fou o farel § | Ut IR &1 9 FifS:
1} (A)-(1, (B)-(1), (O)-(1), (D)-(1V)

(

(2 (A)-(IV), (B)-(1iL), (C)-(1), (D)-(l1)
(3 (A)-(H), (B)-(11), (C)-(1), (D)-(1V)
(4)  (A)-(V), (B)-(I), (C)-(1), (D)-(1)

L=

Options :

92090692773. 1
92090692774. 2
92090692775. 3
92090692776. 4

Question Number : 95 Question Id : 92090623473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What among the following are major advantages of the Four Shaft Table Loom?

A It is transportable.

B It takes up little space.

€ Each shaft is independent.

D. It can be used as a sampler loom.
E. The loom has a light frame.

Choose the correct answer from the options given below :

(n D, E A, Bonly
(2) A, B, C Donly
(3) B, C, D, E only
(4) C D,E Aonly

Options :

92090692777. 1
92090692778. 2
92090692779. 3



92090692780. 4

Question Number : 95 Question Id : 92090623473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frerfef@a 3 8 31 @ IR 2ite 290 $9 & 05E B &
A TeuRaEeia gl

B. UE 4gd &Y M Bl g

C udE Wite wWad g

D. U IUAN YA dd & & H g o g g

E. &Y & 50 g gial gl

A1 fou mu fawedl § 9 9 IR &1 999 S -
(1) 4ddD.E A, B,
(2) &ddABCD
(3) HadB, CDE
(4) HEAC D, E A
Options :

92090692777. 1
92090692778. 2
92090692779. 3
92090692780. 4

Question Number : 96 Question Id : 92090623474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Compound structures in woven design consist of the following attributes :-

A More than one series of ends/pics.

B Forms ground/body of the fabric.

C. Figurative or ornamental designs formed by set of yarns.
[B) Has only one series of ends/picks.

Lhoose the correct answer from the options given below :
(n A, Band Conly
(2) B, Cand D only

(3) D, Aand B only
(4) D, CandAonly

Options :

92090692781. 1
92090692782. 2
92090692783. 3
92090692784. 4

Question Number : 96 Question Id : 92090623474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4 U Feng # M Geeenadl # Preafafag s g &
A At @ ue 8 et Jaan

B. ®US Bl Tdg/ad &1 Bl

C. ¥ S AT RIS 113 Srciap1as U1 wonaet fEumgH)

D. T i il 9t Fad o Jae gt 2

At fau 7o faeedi # @ Ol I &1 9y i -
(1) &ddA B, C
(2) HddB,CD
(3) HdAD, A, B
(4) HdaD,C A
Options :

92090692781. 1
92090692782. 2
92090692783. 3



92090692784. 4

Question Number : 97 Question Id : 92090623475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il ;

List 1 List i
{A) Aesthetic Finish N Indigo
(B) Functional Finish (Il  Mercerization
(C) MNatural Dyes (I} Crease resistant
(D} Dyeing Auxiliary (IV) Sequestering agent

Choose the correct answer from the options given below:

(1 (A)-(1), (B)-(11), (C)-(1), (D)-(1V)

(2) {(A)-(1), (B)-(11), (C)-(1), (D)-(IV)

(3) (A)-(11), (B)-(1), (C)-(1), (D)-(1V)

(4) (A)-(11), (B)-(1), (C)-(1), (D)-(1V)
Options :

92090692785. 1
92090692786. 2
92090692787. 3
92090692788. 4

Question Number : 97 Question Id : 92090623475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt | & |1y g 1 & e $if

- -
(A) gy gfrspfay m sfe
) e afesgfa (1) FEE
(C) Ui TS () age-ddt
(D) TIE R (IV) JUFHR]
19 fau e sl 1§ 9 udl IR &1 909 B

(1 (A)=(D), (BY-(1), (C)-(lIN), (D1)-(IV)
(2) (AY-(111), (B)-(1N), (C)-(1). (DI-(1V}
(3) (A=), (B)-(1i), (C)-(1), (D)-(IV)
() (A)-(1), (B)-(1), (C)-(lm), (D}-(IV)

Options :

92090692785. 1
92090692786. 2
92090692787. 3
92090692788. 4

Question Number : 98 Question Id : 92090623476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is not a primary property necessary for a polymeric material to
make an adequate fibre?

(n Fibre length to width ratio
(2) Fibre uniformity
(3) Maoisture absorption

(4) Fibre cohesiveness

Options :

92090692789. 1
92090692790. 2
92090692791. 3
92090692792. 4

Question Number : 98 Question Id : 92090623476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090692789. 1
92090692790. 2
92090692791. 3
92090692792. 4

Question Number : 99 Question Id : 92090623477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List 1l
(A} Chintz (Il Plain weave
(B) Crepe () Satin weave
(C)  Garbardine {1} Printed
(D) Lawn (V) Twill weave

Choose the correct answer from the options given below:

(1) (AJ=(11, (BY-(i1), (O)-(1V), (D)-{1)

(2) (A)-(I1), (B)-(11), (C)-(1V), (D)-(1)

(3) (A)-(I1), (B)-(1), (C)-(Iv), (D)-(11)

(4) {(A)-(IV), (BY-(11), (C)-(11), (D)-(1)
Options :

92090692793. 1
92090692794. 2
92090692795. 3
92090692796. 4

Question Number : 99 Question Id : 92090623477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A)-(1), (B)-(H), (C)-(1V), (D)-(1)
(2) (A=, (B)-(1), (C)-(IV), (D)-(1)
(3) (A=), (B)-(1), (C)-(IV), (D)-(11)
@) (A)-(IV), (B)-(I1), (C)-(1n), (D)-(1)

Options :

92090692793. 1
92090692794. 2
92090692795. 3
92090692796. 4

Question Number : 100 Question Id : 92090623478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Process of transfer printing

A Design of print
Application of heat and pressure
Print on special paper

Sublimation of print

m o Mn =

Transfer of print on fabric

Choose the correct answer from the options given below :

() A CBDE
) ADGCBE
3) B,D,CAE
4 EABCD

Options :
92090692797. 1
92090692798. 2



92090692799. 3
92090692800. 4

Question Number : 100 Question Id : 92090623478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST 3uTs @t ufdem

A fife @1 fgwm=a

B. 0 3R E&ME H1 UGN

c. fdwwmamie

D. file &1 3diao

e ®us R fife gwiawm

1 e e fawed] O @ wdl I &1 9a4 S

1 ACBDE
2} ADCBE
3} B.D,CAE
4) EABCD

Options :

92090692797. 1
92090692798. 2
92090692799. 3
92090692800. 4



